



Vendor Ranking

Page 1 of 1

Letting: 01210415

 Contract: E1U43-R0

District: District 1

Counties: DIST/ST-WIDE,

Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

MANATEE, SARASOTA

Project(s): 43272817284 (*)

Contract Desc: Mowing, Litter Removal, and Edging

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$839,191.72	100.00%
2	AERO GROUNDTEK LLC	Responsive	Non-Winning Bid	\$865,821.96	103.17%
3	SUPERIOR LANDSCAPING & LAWN SE	Responsive	Non-Winning Bid	\$954,289.65	113.72%
4	TURTLE INFRASTRUCTURE PARTNERS, LLC	Responsive	Non-Winning Bid	\$975,689.84	116.27%
5	M & M CONTRACTORS, INC.	Responsive	Non-Winning Bid	\$1,286,240.94	153.27%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





Tabulation of Bids

Page 1 of 4

Letting: 01210415 April 15, 2021 **Call Order:** 003 **Contract:** E1U43-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

MANATEE, SARASOTA Project(s): 43272817284 (*)

Contract Descr: Mowing, Litter Removal, and Edging

The work under this contract consists of Mowing, Litter Removal, and Edging.

Line No / Item ID Alternate Item Description	Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) AERO GROUNDTEK LLC		(3) SUPERIOR LANDSCAPING & LAWN SE	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACH	IINE MOWING (AC					
0005 E104 4 1	14,413.788	22.00000	317,103.34	18.00000	259,448.18	24.00000	345,930.91
MOWING (REGULAR/LAR(MACHINE)	GE AC						
0010 E104 4 2	676.380	200.00000	135,276.00	95.00000	64,256.10	89.00000	60,197.82
MOWING (SLOPE)	AC						
0015 E104 4 3	474.780	150.00000	71,217.00	55.00000	26,112.90	66.00000	31,335.48
MOWING (SMALL MACHINE)	AC						
0020 E104 4 4	1,257.972	60.00000	75,478.32	65.00000	81,768.18	66.00000	83,026.15
MOWING (INTERMEDIATE MACHINE) AC						
0025 E110 30	16,822.920	8.00000	134,583.36	9.00000	151,406.28	16.00000	269,166.72
LITTER REMOVAL	AC						
0030 E110 32 2	4,221.348	25.00000	105,533.70	67.00000	282,830.32	39.00000	164,632.57
EDGING	MI						
0001 LARGE MACHINE Sec MOWING (AC)	ction Totals:		\$839,191.72		\$865,821.96		\$954,289.65



04/15/2021

Page 2 of 4

Tabulation of Bids

01210/15 April 15 2021 Call Order: 002 Contract: 511/42 PO

Letting:	etting: 01210415 April 15, 2021		Call Order: 003			Contract:	E1U43-R0	
Line No / Item ID Alternate Quantity Item Description Units		(1) T & M LAWN-FENCE SERVICE INC		(2) AERO GROUNDTEK LLC		(3) SUPERIOR LANDSCAPING & LAWN SE		
() indicates item is bid as Lump Sum			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
Contract Grand Totals:				\$839,191.72		\$865,821.96		954,289.65



04/15/2021

Page 3 of 4

Tabulation of Bids

Letting: 01210415	April 15, 2021	Call (Order: 003		Contract:	E1U43-R0	
Line No / Item ID Alterna	(4) TURTLE INFRASTRUCTURE		(5) M & M CONTRACTORS, INC.				
() indicates item is bid as Lump Sun	m	PARTNERS Unit Price	S. LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (LARGE MACHINE MOWING (AC							
0005 E104 4 1 MOWING (REGULAR/L/ MACHINE)	14,413.788 ARGE AC	27.30000	393,496.41	20.00000	288,275.76		
0010 E104 4 2 MOWING (SLOPE)	676.380 AC	93.60000	63,309.17	125.00000	84,547.50		
0015 E104 4 3 MOWING (SMALL MACHINE)	474.780 AC	78.00000	37,032.84	175.00000	83,086.50		
0020 E104 4 4 MOWING (INTERMEDIATE MACHI	1,257.972 INE) AC	52.00000	65,414.54	40.00000	50,318.88		
0025 E110 30 LITTER REMOVAL	16,822.920 AC	18.23000	306,681.83	15.00000	252,343.80		
0030 E110 32 2 EDGING	4,221.348 MI	26.00000	109,755.05	125.00000	527,668.50		
0001 LARGE MACHINE MOWING (AC)	Section Totals:		\$975,689.84		\$1,286,240.94		

Contract Grand Totals: \$975,689.84 \$1,286,240.94



04/15/2021

Tabulation of Bids

Page 4 of 4

Letting: 01210415

April 15, 2021

Call Order: 003

Contract:

E1U43-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.